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Why earth resistance can be found by only clamping it?

Rx, is defined as earth Of these earth resistances, Ri, Rz, - Ra
rasistance wnder test, and can be considered that they are connected
R:, Rz-Ra are defined as in parallel.

earth resistance of other And con be regorded a3 o combined
measuring objects. resistance Rs. The Res con be regorded

small encugh ogainst R=x since a combined
resistance consists of several resistances.
Fallowing is an equive- 1
lent circuit diogram of Re="f% -
this circuit. L

S

Valtoge V is applied to the object [Resistance Rx)

W
— =R = Rx +Rs

measured from the wolloge injection fransformer T

CT1, and the current T comesponding to the earh

resistance is owed. Rx » Ra= 5

The current I is detected with detection fransformer ié v
T2, and object [Resistance R=) measured can be v R ! g
put eut by the caleulation. [refer 1o the right chart) < = T i
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(kg)oss (Mm) iy s A Db el

(inch) (mm) (mm) |
1.5 14.2 5.8 1200 14.2
1.9 14.2 5.8 1500 14.2
2.5 14.2 5.8 2000 14.2
2.8 17.2 3.4 1500 17.2
3.7 17.2 3.4 2000 17.2 |
5.6 17.2 3.4 3000 17.2
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(kg) s
2.1
2.6

4.1
54

(mm) Jsl-

2.1
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4.1
54

(mm) L3
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20
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